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(4)
is measured in Raman |6.
spectroscopy.
(1) Scattered radiation
(2) Absorbed radiation
(3) Emitted radiation
(4) Transmitted radiation
Optical activity is measured by .
(1) Polarimeter
{2) Potentiometer
(3) Colorimeter
(4) Conductivity meter
Hydrolysis of an ester results in
8.

(1) acid and base
(2) ‘acid and alcohol
(3) salt and base

(4) acid and salt

The number of H! NMR signals obtained for
ethyl alcohol is

1 1
@ 2
3 3
@ 4

The fingerprint region is
(1) 1300 - 625 cm™
(2) 4000 — 625 cm™!
(3) 1600 — 4000 cm ™!

(4) 3200 -3600 cm™ !
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Zero point energy of a harmonic oscillator is

1
1) = ho
(1) 2
2
2) = hw
(2) 3
(3) ho
(4) zero
The hybridization on carbon atoms in

phenylacetylene are
(1) sp and sp3
(2) sp2 and sp3
(3) sp and sp2

(4) sp, sp2 and sp3

In tetracyano-ethene molecule
(1) geometrical isomerism is possible

(2) the rotational energy barrier around
C = C will be higher than in ethene

(3) the number of ¢ and n bonds will be in
theratioof 1:1

(4) C-N bond length will be the same as
in HCN

The quantum yield of a photochemical
reaction is the ratio between

(1) number of moles of product formed and
number of Einsteins of radiation

absorbed

(2) number of moles of product formed and
number of quanta of radiation absorbed

(3) number of quanta of radiation absorbed
and number of moles of reactant reacted

radiation
of product

(4) number of Einsteins of
absorbed and number
molecules formed
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10.

11.

12,

13.

16)

The order of acidity of positions X, Y and Zis

1) X>Y>Z
@ Y>X>Z
3 Z>X>Y
@ X>Z>Y

When the azimuthal quantum number (I) is
3, m can have

{1) 1 value
(2) 3 values
(3) 5 values

(4) 7 values

Bohr’s model can explain

(1) the spectrum of hydrogen atom

(2) the spectrum of atom or ion containing
one electron only

(3) the spectrum of hydrogen molecule

(4) solar spectrum

The structure of [Cu(H,0) 4]2+ ion is

(1) square planar
(2) tetrahedral
(3) pyramidal

(4) octahedral

14.

115.

16.

117.

LJ/809~
Which has a minimum dipole moment ?
(1) Butene-1
(2) cis-butene-2
(8) trans-butene-2

(4) 2-methyl propene

During adiabatic expansion of gas
(1) internal eﬁergy incx;eases
(2) temperature increases

(3) temperature decreases

(4) entropy decreases

A gas expands against vacuum from a
volume of one lit to 10 lit at 273 K. The work
done during this process is

(1) 10-0 kcals
(2) 50 kcals
(3) zero

(4) 10 kcals

In a chemical equilibrium A + B= C + D

when one mole each of the two reactants are
mixed, 0-6 mole each of the products are
formed. The equilibrium constant is

1) 10

(2) 0-36
(3) 225
(4) 044
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18.

19.

20.

21.

(8)

.The solubility of a sparingly soluble salt of
~ the type AB, is 20 x 10-% m 1lit"l. The

solubility product of this salt is

@ 32x107Y
2) 40 x 10712
(3) 80 x 1078
(4) 40 x 1078

In a vessel containing SO3;, SO, and O, at
equilibrium, some helium gas is introduced
so that the total pressure increases, while
temperature and volume remains constant.
According to Le Chatelier’s principle, the

"dissociation of SO3

(1) increases
(2) decreases
(3) remains unchanged

1s uncertain

4)

The heat capacities of an ideal gas are

related by the reaction

Q) cp—csz
(2) cp+cv=R
c
3 -£=R
c
v
4) cpxcv=R

Calomel electrode is an example of

(1) metal-metal ion electrode
(2
(3)

(4)

oxidation-reduction electrode
amalgam electrode

metal-metal insoluble salt electrode

22.

23.

24,

25.

LJ/809 *

The relation between free energy change and
equilibrium constant of a reaction is

AG
D k=—
ey RT
@) k = 2C/RT
(3) k = e AG'/RT
(4) k = e-ACG/RT

The sum of transport numbers of cation and
anion of an electrolyte is '

(1) unity
(2) zero
3 >1
4) <0

The solubility of a sparingly soluble salt in
conductivity experiment is calculated using
the formula

100K

(1) S= A
(o]
1000 A

(2) S= /\
0

2

® S=(1,)
1000

@4 8= ——

If the value of one Einstein of radiation is
72 kcal, the wavelength of light is

(1) 3972 A-
(2) 17944 A
(3) 1986 A
4 72A
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26.

279.

28.

29.

- 30.

(10)

The rate constant of a first order reaction at
300 K is 6:93 x 1073 s71. Its half life period is

(1) 100 min
@) 100s
(3) 1000 min
(4) 1000 s

An important - characteristic of enzyme
catalysis is ' '

(1) high specificity
(2) occurs in presence of light
(3) rate increases with temperature

(4) rate increases with pressure

Which of the following compounds show
cis-trans isomerism ?

(1) 2-Butene
(2) 2-Butyne
‘(3) 2-Butanol

(4) 1-Butanol

Mesot'artari_c acid is optically inactive due to
(1) two chiral carbon atoms
(2) molecular unsymmetry

(8) molecular symmetry

(4) absence of centre of symmetry

The reagent used for separation of amino
acids is

- pheholphthalein
(2) ninhydrin .

3)
(4) methyl blue

methyl orange

31.

32.

33.

134.

35.

LJ/809

The critical temperature for H, is

1) 311°C
(2) -240°C
3) 120°‘ C
(4) 100°C

The constant ‘a’ in Van der Waals equation of
state is maximum in :

(1) He
@ H,
3 0,
(4) NH,

In the reaction A —> B, if the concentration
of A'is increased by four times and the rate of

the reaction becomes double, the order of the

reaction is

(1) zero
@ 1

. 1
3) 5
“4) 2

A chemical reaction A + 2B — AB2 follows
in two steps. co

A+B—>AB(slow) AB+B-— AB, (fast)

Then the order of the reaction is

(n 3
(2) 2
3 1
4) 0

The molecularity of a reaction is
(1) can be zero

(2) only a fraction

(3) can be zero or a fraction

(4) only a whole number

EN
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34.
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36.

37.

38.

39.

{12)

In a first order reaction, the concentration of
product X’ at time t is given by the expression

(1) x=a (1 - e""t)

_ 1
@ x=37%
1.

(@8 x= 2“7‘1
@ x=37%

In a zero order reaction the rate (R), rate

constant (k) and the initial concentration of |

the reactant (a) are related by

(1) R=ak
2) R=ak-

3) R=2

3 .

k

| 4) R=‘§

The half life period of a second order reaction |

is given by
W | e
@ —
3) %
@ § |

The rate constant of a certain reaction is
1-25 x 1072 1it mol™! s™1. This information
suggests that the reaction is

(1) a fast reaction
(2) a slow reaction
(8) a first order reaction

(4) a second order reaction

40.

41.

42,

43.

44,

LJ/809 .

The activation energy of a ‘reéction is
(1) the energy of the activated complex

(2) the energy difference between the
reactants and products

(3) the energy difference Abetween the
activated complex and products '

(4) the energy difference between the
activated complex and reactants ’

‘When pressure is applied to the equilibrium;

system ice = water, which of the following
phenomena will happen ?

(1) More ice will be formed

~ (2) Water will evaporate

(8) More water will be formed

(4) Equilibrium will not be formed

In which of the equilibria; does the position of
the equilibrium shifts towards products, if

_the total pressure is increased ?

1) I, (@ + H, (@ = 2HI ()

(2) N, (g)+ 0, (g = 2NO (g
(3) N, (g) + 3H, (g) = 2NH, (g)
4 N,0, (g) = 2NO, (g)

In the equilibrium,

4 HZO (g) +3 F‘er(s) = Fe304 (s) +4 H, (g)
the yield of H, can be increased by

(1) increasing the pressure

(2) passiﬁg more steam

(3) increasing the mass of iron

(4) decreasing the pressure

_Law of mass action cannot be applied to

(1) 2HI= H2»+ I,
(2) PC15 = PCL3 + 012
(3) water = ice

(4) CaCO, = CaO + CO,
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40.

44.

41.

42,

43.
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(1) 1, +H, @< 2HI @

2 N,(@+0,@+ 2NO (g)

(3) N, (g)+3H, (g) = 2NH; (&)

4) N O g= ZNO (2)

,oo“wawaé‘ 4 H,O (&%) + 3 Fe (o) <
Fe,0, (3) + 4 H, ()
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(D 2HISH,+ 1,

(@) PClL = PCl, +Cl,

(3) % = Hod

(4) CaCO, = CaO + CO,



45.

46.

47.

48.

49.

50.

S (14)
According to first law of thermodynamics, - |51.
(1) AE=q-W
(2) AE=gxW
(3) AE = Aq + AW
(4) AE =Aq+ W
According to Kirchhoff’'s equation, the
following factor affects the heat of reaction :
(1) Pressure 52,
(2) Temperature
(3) Volume
(4) Molecularity
The reaction between AE and AH is
(1) AH = AE - VAP
(2) AH = AE + PAV 53.
(3) AH = AE + VAP
(4) AE = AH + PAV
For the reaction, N, + 3 Hy, - 2 NH,, AH =
(1) AE + 2RT
(2) AE - 2RT
(3) AE + RT 54,
(4) AE
For an irreversible process AS is
(1) zero
2 <0
3 >0
(4) cannot be predicted 55.
During isothermal expansion of ideal gas, its
(1) internal energy increases
(2) enthalpy decreases
(3) internal energy remains unaffected
(4) enthalpy reduces to zero

LJ/808

The Joule — Thomson expansion of an ideal.
gas is an

(1) isothermal process
(2) 1isoentropic process
(3) isoenthalpic process

(4) 1isobaric process

When ice melts into water, entropy

(1) becomes zero
(2) decreases
(3) increases

(4) remains same

For a spontaneous chemical process, the free
energy change is ' :

(1) positive
(2) negative
(3) positive or negative

(4) zero

AN

The relation AG = AH —~ TAS is given by
(1) Boltzmann

(2) Faraday

(3) Gibbs

(4) Thomson

H2 (g) + 12 (g) = 2 HI (g), AH = — 1240 keal

According to this equation the heat of
formation of HI is

(1) 12-4 keal

(2) - 12:4 kcal

(8) —6-20 kcal
(4) 6-20 kcal
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48.

49.

50. -

SB08 Ty (B dopn [BS S
() AE=q-W

@ AE=qxW

(3) AE = Aq + AW.

(4) AE=Aq+W
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®odin SEI) (Pardso Tood

(1) 5H&ddo

@) oS

(3)  HodHOXeeaw

(4) eoeweb

AE 0o AH &g Ho Do

(1) AH = AE - VAP

(2) AH = AE + PAV

' (3) AH = AE + VAP

4) AE=AH+PAV
N, + 3H, > 2NH; o 156565 AH =
(1) AE + 2RT

. (2) AE-2RT

(3) AE +RT

(4) AE

sdyambod (BEHS® AS Dend
1 DX
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(1) wos6¥ 38 DHH&H08
(2) ©od8S ahdn SiHSod
(8) ©oSDE $8S° Hrdyy oS
(4) ©os88 &hdn Hd) eHBod

{15)

|51,

52.

53.

54.

55.
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(1) s3mh BlEod

(2) DB o|E°dE BB

(3) DJogrdNE D8

(4) B S (DBoH
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0% S8R D Erdd (DB’ oo
(1) ) vHH0s

2) Sihdod

3) &iHS0d
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2611’653'; A .

(D) Gl

(2) wwé&.’ézﬁn

(3) Gardysdw S 2aweg & S

(4) 2

AG = AH - TAS o 502&6@&)‘1
Jr oI

1) 23'5%%26?5

(2) >88

(3) Ay

CORAEAS

H, (&) + I, (&) = 2 HI (63");
AH = — 12'40 kcal

&3 DEBerdyd00d  HI
T

Sy,

rS

(1) 124 keal

(2) —12-4 kecal
(3) - 620 keal
(4) 6-20 kcal



56.

57.

58.

. 89.

- 60.

{16)

}iIn an electrolytic conductor

(1) electrons move
(2) ions move
(3) neutral particles move

(4) - HZO molecules 'move

An aqueous solution of which of the following
substances has a pH > 7 ?

(1) NaCl
(2) CH,COONa
(3) NH,CI

4) KCI

pH of the solution obtained after the
electrolysis of aqueous NaCl using inert
electrodes is

1) 0

(2) Dbetween 0 7
3) 7

4) >1

In potentiometric acid base titration, the
potential of the following electrode changes :

(1) quinhydrone electrode
(2) platinum electrode
(8) calomel electrode

(4) silver electrode

Debye — Huckel — Onsager equation is

~ applicable to

1 “weak electrolytes
(2) strong electrolytes .
(3) organic acids

(4) organic bases

61.

62.

63.

64.

65.

LJ/809

The size of the ion decreases in f-block
elements. This is explained as due to

(1) increase in atomic number
(2) increase in mass number
(8) lanthanide contraction

(4) electronegativity

The most important oxidation state of f-block
elements is

(1) +4
(2) +3
3) +1
4) +2

Which of the following is a polynuclear
compound ?

(1) [Co(NH,),CL,]Cl
(2) NaFe[Fe(CN)]
(3) [Cr(H,0), ClICl,
(4)  [(CO); Fe(CO), Fe(CO),]

Which does not obey EAN rule ?
(1) K,[Fe(CN);] |

(2) K, [Fe(CN)g]

(3) [Co(NH,)] Cly

(4) [Ni(CO),]

Optimai isomers have

A. property of chirality.

B.  almost identical chemical properties.

C. almost identical physical properties.

D. similar rotation of plane polarised light. '
(1) A, B, C are correct

(2) B, C,D are corre;:t

3) A,C,D are correct‘

(4) A, B, D are correct
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56.
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60.
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= Je]VelA)

(1) NaCl

(2) CH,COONa

(3) NHCI
4) KCl

NaCl =zo (@ededy 28 o)ogsjéoozéo
&HrA0D D&Jg&gﬁa’m Hodrre fbdgc‘fg;s
(oHes) pH Ddend

1 o
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61.

62.

63.

64.

65.

ford oo oolrveo  HoNrare
STNALY S eoaw

(1) DSdrew Sog DEHE

(2) |(&SDgoe3 Dopg DG

(3) ©rodI3& Ho& Wi
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SEN 28

1) +4

2) +3

(3) +1

4) +2

@égoé Q0PLRD

‘és (808 &JS® & Sod¥ 2\’)33&0552625»

(1) [Co(NH,),CL,]CI
(2) NaFe[Fe(CN)]
(3)  [Cr(H,0); CIICL,
(4) [(CO), Fe(CO), Fe(CO),]

EAN Q0%&rd) @8 Eodid .

(1 K,[Fe(CN)]
(2) K, [Fe(CN)]
(3) [Co(NH,)ICl,
(4) INi(CO),]

($oe FByTgo ©Fn

A. 30°98.

B. oo e So0d dod) £
Goddo.

C. orord DS Fa¥ CSO"’&OE@) 0
Goddo.

D. %80 )08 5080 o8 dforr
(o DobIJrow.

(1) A, B, C are correct

2 B,C, D are correct

3) A, C, D are correct

(4) A, B, D are correct
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67.

68.

69.

70.

{18)

The conjugate acid of a strong base is a
(1) strong acid

(2) weak acid

(3) strong base

(4) weak base

Which of the following is an acid and also a
conjugate base of another acid ?

(1) HSO,
(2 H,80,
(3) NOj
(4) H;0"

According to Pearson concept, the soft base
among the following is

(1 F-
(2) Br
(3) H~
(4) NH,

Hard acid among the following is

(1) BH;
@ 1,

3) 08
@ H

The transition metal present in the alloy gun
metal is

() Cu
2) Ag
3) Au
4) Fe

71.

72.

73.

74.

75.

LJ/809

The bonding molecular orbital has
energy as compared to atomic orbital from
which it is formed.

(1) lower
(2) higher
(3) same

(4) higher or lower

In the area of H, molecule, the number of
resulting molecular orbitals is the same as

(1) number of atomic orbitals
(2) antibonding orbitals -
(83) bonding orbitals

(4) non-bonding orbitals

If an electron is removed from the
antibonding orbital of a molecule its stability

(1) increases
(2) decreases
(3) remains same

(4) may increase or decrease -

Elements of zinc group (Zn, Cd, Hg) are
called

(1)_ noble metals
(2) coinage metals
(3) volatile metals

(4) precious metals

Amongst LiCl, RbCI, BeCl,, MgCl,, the
compounds with the greatest and least ionic
character are

(1) LiClL, RbCl
(2) RbCl, BeCl,

(3) RbCl, MgCl,
(4) MgCly, BeCl,
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71.

78.

79.

80.
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~(20) -

A real gas obeys ideally at 81.
(1) low pressure and high temperature
(2) low pressure and low temperature
(3) high pressure and high temperature
(4) high pressure and low temperature
Ionic solids are characterised by

82,

(1) good electrical conductivify
(2) high vapour pressure
(3) low melting point

(4) solubility in non-pdlar solvents

Geometrical isomerism in square planar
complexes is given by '

(1) Ma, complexes

(2) Magb complexes

(3) - Magb, complexes |

(4) Mb, complexes

[Co(NH,); Br] SO, and [Co(NH,); SO ) Br
are examples of which type of isomerism ?

(1) Linkage

(2) Geometrical

(é) Ioni;ation

(4) Optical

number of

ions formed when
[Cr(H,0), C11Cl, ionises in solution is
m 1
(2) 2
3) 3.
T 4) 4

83.

84.

85.

LJ/809

The uranium (mass number 238 and atomic
number 92) emits an a particle; the product
has the mass number and atomic number

(1) 236 and 92
(2) 234 and 90
(3) 238 and 90

" (4) 236 and 90

Gamma rays are

(1) high energy electrons

(2) low energy electrons

(3) high energy electromagnetic waves

(4) high energy positrons

In a certain radioactive decay, an electron is
emitted. It comes out from

(1) outermost orbit of the atom -

(2) inner shells of the atom

. (3) nucleus of the atom

(4) - penultimate orbit of the atom

%gAl is a stable isotope. ?gAl is expected to
disintegrate by '

(1) o-emission
(2) PB-emission
(3) positron emission

(4) proton emission

A radioactive sample " has half life of
1500 years. A sealed tube containing 1g of
the sample will contain after 3000 years

(1) 10g
(2) 05¢g
3) 02g
(4) 000g
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87.
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89.

90.
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The number of a and B particles emitted in
the nucleon reaction 2%%Th- - ngi, are

(1) 4o and 1B
(2) 30 and 7P
(3) 8a and 1B
@) 4o ‘anc\i”m

- According to kinetic energy of gases,

. (1) . there are no intermolecular attractions

between gas molecules

{(2) there are
between gas molecules

(3) the velocity of molecules_decreases for

each collision

(4) molecules have no Volﬁme

The molecular velocity of any gas is

(1) proportional to absolute temperature

(2) proportibnal to the ‘s'quar\e of absolute
temperature

(3) proportional to the square root of|

absolute temperature

(4) 1ndepende’nt of absolute temperature

In Van der Waals equation of state for
non-ideal gas, the term that accounts for
intermolecular forces is

1 V-b
(2) RT

) a
@ @®DL

The units of Van der Waals constant ‘a’ are
(1) atm lit mol™! |
(2)

(3) atm?1it? mol 2

atm lit% mol 2

(4) - lit atm moi

intermolecular attractions

91.

92.

93.

94.

LJ/80%

Rutherford’s  alpha  particle scattering
experiment led to the conclusion that

(1)

mass and energy are related

(2) electrons occupy space - around the
nucleus

(3) neutrons are buried deep in the nucleus

(4) the point of impact with matter can be

precisely determined

When alpha particles are sent through a thin
metal foil, most of them go straight through
the foil because

(1) oa-particles are 7 much heavier than
electrons ‘ .

(2) ‘ a-particles are p‘oéitively charged

(35 most part of the atom is filled

(4) a-particles move with high velocity

The half life period of a radioactive element is
140 days. After 560 days, one gram of the
element reduces to

» g .
@ e
7(3) glg
(4) %_g.

The ratio of the energy of a photon of 2000 A
wavelength radiation  to that of 4000 A
radiation is .

1
(1) 1
2 4

1
(3)v§
4 2
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96.

97.

98.

99.

(24)

Which of the following does not characterise
X-rays ?
| 1) Thei radiation can ionise gases

(2) It causes ZnS to fluoresce

(8) Deflected by electric and magnetic fields
(4) Have wavelengths shorter than

ultraviolet rays

Potassium crystallises in a BCC lattice, hence

the

coordination number of potassium in

potassium metal is

(D
(2)
3)
(4)

The
are

(1
(2)
3)

@

0
4
6
8
positions ofl Cl” ions in NaCl structure

corners of the cube
centres 6f faces of the cube

corners as well as centres of the faces of
the cube

edge centres of the cube

”’

Space lattice of CaF, is

1)
®)
3)
)

FCC
BCC
Simple cubic

HCP

Solid CO,, is an example of

6))
(2)
3)
4)

ionic crystal
covalent crystal
metallic crystal

molecular crystal

100.

101.

102.

103.

104.

LJ/809,

An ionic compound has a unit cell consisting
of A ions at the corners of a cube and B ions
on the centres of the faces of the cube. The
empirical formula for this compound is

(1
(2)
3)
4)

ABy

The elements on the right side of the periodic

table are

(1) metals

(2) metalloids
(3) non-metals

4

transition elements

The element Californiu;n belongs to a family

of
(1
(2)
3)
(4)

Actinide series
Alkali‘ metal family
Alkaline earth family

Lanthanide series

Which one is the correct order of the size of
iodine species ? '

D
(2)
3)
4)

I>I">1"
I>sI >T1"
I'>I1">1
I_‘>I>I+

Which of the following elements have the
lowest first ionisation potential ?

1)

(2)
3)
Y

Mg
Rb
Li

C.a
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105.

106.

107.

108.

109.

{26)

As one moves along a given row in the
periodic table, electronegativity

(1) remains same

(2) increases

(8) first increases, then decreases
(4) decreases

when we move from left to right.

The types of bonds present in CuSO, . 5§ H,O
are

(1) electrovalent and covalent
(2) electrovalent and coordinate covalent
(8) electrovalent, covalent and coordinate

covalent

covalent and coordinate covalent

(4)

Which of the following cannot exist on the
basis of molecular orbital theory ?

1 }15
(2) He,
(3) He2
4) O,

The bond order of a bond according to
molecular orbital theory

(1) cannot have a negative value

(2) always has an integral value

(3) is a non zero quantity

(4) can assume any value includihg Zero

The second order Bragg diffraction of X-rays
with A =1-00 A from a set of parallel planes
in a metal occurs at an angle of 60°. The
distance between the scattering planes in the
crystal is

(1) 0575 A
(2) 100 A
(3) 200 A
4) 115A

110

111.

112,

113.

114.

LJ/809

A transition metal X has the configuration
[Ar] 3d* in its +3 oxidation state. The element
is

(1) Mn
(2) Fe
3 Ti
4) K

Which of the following ions has the same
number of unpaired electrons as that of V3+*
ion ?

a o3
2 Mn%*
(3 Ni2*
(4) Fe3*

Which of the following statements regarding
transition elements is false ?

(1) Their atoms contain partially filled
d-orbitals

(2) They are capable of showing variable
valencies

(3) All of their ions are colourless

(4) They form complexes readily

The transition metal that has stable

configuration in +1 oxidation state is

(1) Cu

(2) Zn

(3) Sc

(4) Cd

The highest oxidation state is achieved by

transition elements with the electronic
configuration

(1 a’?

@ d%!

3) d%®

(4) d%?
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115.

116.

117.

118.

119.

. 120.

(3)

(28)

For the first row transition metal ions, the
magnetic moment in Bohr magnetons is
calculated by the formula

(1) Ynn+1D
(2) J4s(s+ 1D
@) Yn’m+2)

4) n(n?+1)

Which of the following is an alloy of a metal |

and a non-metal ?

(1) Bronze
(2) Electron
(3) Nichrome

(4) - Steel

Which of the following compounds is coloured
and paramagnetic ? ‘

(1) ScClg
@ TiCl,
(3) CrCl,
(4) CuCl

In complexes, the primary valency of metal is
always equal to its

(1)
(2)

Oxidation number
Coordination number
Atomic number

Mass number

(4)

The ligand in K, [Fe(CN)¢] is

1 K
(2) Fe?t
(3) Fe3*
4) CN~

The effective atomic nurhber of iron in
[Fe(CN)I*~ is

(1) 34 ‘

(2) 36

(3) 37

4) 35

121.

122,

123.

124.

125.

LJ/809"

According to Freundlich’s isotherm

X _ 1/n
(1) m - kp

m 1/n
(3) xm = kp!/™

X k

The extent of adsorption from solution
decreases with

(1) decrease of temperature
(2) increase of surface area
(3) increase of temperature

(4) increasing the concentration of solute -

H2 - Cl2 reaction is

(1) molecular reaction
(2) catalytic reaction
(38) oxidation reaction
(4) chain reaction

According to Beer — Lambert’s law,

absorbance is proportional to

(1) (concentr.ation)1
l (2) (concentration)! 2_-
"(8) (concentration)?
4) (concentration)z.

An acidic buffer is

(1) NH4 + NH,CI

(2) Na3PO4 + H3PO4

(3) CH4COOH + CH3COONa
(4) NaOH + NaCl |
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126.

127.

128.

129.

Enzyme catalysis is studi’ed by
(1) Gibbs

(2) Arrh(;,nius

(3) Miéhaelis — Menten

(4) - Bohr

In conductometric titrations,

“varies with

(1) resistance
(2) curreht
(3) concentration

(4) - potential

" The ionic conductance is maximum for

(1) H" ions
(2) OH" ions
(3) CI ions

(4) Na" ions

Kp for the reaction

CaCOyg4 (s) = CaO (s) + CO, (g) is

o .[CaOJ[Coz]
: [CaCO3]

: [caco,]
@ [ca0][cO, ]
@ [co,]

. )
@) [co,]

conductance

{30)

units of K are
(1) mole/litre
(2) litre/mole
3) mole?/litre?

(4) litre%/mole?

131. Methane can be prepared by
(1) Wurtz reaction
(2) Decarboxyiation

(3) Hydrogenation reaction

132. The most sﬁrained,cycloalkane is
(1) cyclopropane :
(2) cyclobutane
(8) cyclopentane

(4)- cyclohexane

in 2,2,3-trimethyl pentane ?

(1) One
(2) Two
(3) Three
(4) Four

Friedel — Crafts reaction ?

(1) CgHg + CoH,Cl —2208,

(2) C,HLOH + HCl _#nCly ,

ether

(4) Alkyl magnesium bromide

(3) CgzHCl + CHZCOCI ——ﬂ(—:b—)

 C.H,COCHj + Cl,

© LJ/809.

130. For the reaction 2SO0, + O, = 2803 the

133. How many types of carbon atoms are present

134. Which reaction represents an example of

CH, — C,Hy

+ HCL-

C,H,Cl

+ HZO

(4) C,HBr + Mg —2°T, C,H,MgBr
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(3)

(4) H_MgBr



135.

136.

137.

138.

139.

@

(32)

Benzyl alcohol is obtained from benzaldehyde

by

(1) Wurtz reaction

(2) Cannizzaro reaction

(3) Claisen reaction
Perkin reaction

The. addition of Grignard reagent, CHéMgBr
to acetaldehyde is a nucleophilic addition to
the carbonyl group. The nucleophile in this
reaction is -

(1) CH,CHO
(2) "CH,

(3) Br

(4) T:CHg4

The nuclear spin (I) for proton is

1 1

-1
(2) 3
@ 0
4) 2

8 and t values in NMR spectroscopy are
related by

1) 6=10-1

(2) 8=10+1

3) 6=1

4 s=1
Cellulose is a

(1) monosaccharide
(2) disaccharide
3) \polysaccharide
(4) trisaccharide

140.

141.

142,

143.

144.

LJ/809"

The number of peaks in the ESR spectrum of
‘CH, are

(1) one
(2) three
(3) four
(4) two

Total hydrolysis of starch gives

(1) D-xylose
(2) D-glucose
(3) D-fructose
(4) D-ribose

Amide linkages between amino acid in
proteins is called

(1) peptide bond
(2) - hydrogen bond
(3)

(4)

hydrolytic bond

carbon linkage

A process which destroys the asymmetry of
an optical isomer results in

(1) resolution
(2) hydrolysis
- (3) racemization

(4) dissociation

Insulin is a/an

(1) protein

(2) carbohydrate
(3) steroid

(4) alkaloid
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145. Vitamins are derived from

1
(2)
3)
(4)

amines
amides
carbohydrates

anilides

146. Vitamin C is

(1)
(2)
(3)
(4)

succinic acid
oxalic acid
ascorbic acid

acetic acid

147. Alkaloids are

e))
(2)
3
(4)

basic in nature
acidic in nature
neutral in nature

alcohols

(34)

(1)
(2)
(3)
4)

(1)
(2)
(3)
4)

D
(2)
(3)
4)

LJ/809

148. An example of alkaloid is

papaverine
glucose
fructose

starch

149. For CCl, dipole moment is

0D
1D
>1D
<1D

150. Microwave active substance among the
‘ following is

HCI

cl,

Co,
0

2
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